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R ome | BT e | B2 | e | e | B2 | B R e | B2 | T | & |
' 100kN/m%# 2 % 1.00/0.00 ~ 4.07 166.66|3m%Ei#E%5(0.00 ~ 250 4.25 21.49| 100kN/mM%#BZ % 1.00( 10.77 ~ 65.60 166.66(3m%i#82 5| 25.00 ~ 65.60| 4.25 21.49
ZFhst 1.00| 407 ~ 11.85 100.00f Zhist [ 250 ~ 11.85| 3.00 15.16 ZhnLst 1.00[ 500 ~ 10.77 100.00f =4t | 5.00 ~ 25.00| 3.00 15.16
5 100kN/ Mm% 2 % 1.00/0.00 ~ 4.09 167.07|3m%E#8%5%(0.00 ~ 2.64| 4.38 22.16| 100kN/m%#BZ % 1.00[ 11.15 ~ 65.60 167.07|3m%i#82 5| 25.00 ~ 65.60| 4.38 22.16
ZFhst 1.00| 409 ~ 11.87 100.00| Zh st [2.64 ~ 11.87[ 3.00 15.16 ZhnLst 1.00[ 500 ~ 11.15 100.00f = st | 5.00 ~ 25.00| 3.00 15.16
5 100kN/m%# 2 % 1.00/0.00 ~ 4.09 167.00(3m%#8%5%(0.00 ~ 258 4.32 21.85| 100kN/mM%#BZ % 1.00[ 10.95 ~ 63.96 167.00( 3m%#82 5| 25.00 ~ 63.96| 4.32 21.85
ZFhst 1.00| 409 ~ 11.87 100.00f Zh st [ 258 ~ 11.87[ 3.00 15.16 ZhLst 1.00[ 500 ~ 10.95 100.00f =4t | 5.00 ~ 25.00| 3.00 15.16
A 100kN/m%# 2 % 1.00/0.00 ~ 4.08 166.96| 3m%Ei#8%5(0.00 ~ 2.64| 4.38 22.16| 100kN/m%#BZ % 1.00[ 11.15 ~ 64.00 166.96( 3m%i#82 5| 25.00 ~ 64.00| 4.38 22.16
ZFhst 1.00| 408 ~ 11.87 100.00| Zh st [2.64 ~ 11.87[ 3.00 15.16 ZhLst 1.00[ 500 ~ 11.15 100.00f =4t | 5.00 ~ 25.00| 3.00 15.16
5 100kN/mM%#BZ 5 -l -~ = -|3mZEi#BZ5 = ~ = = —| 100kN/mM%#8% % = -~ = —-|3m&x#Z5 -~ = = =
ZFhst 1.00/0.00 ~ 573 71.63] #hLlst 1000 ~ 573] 1.78 8.99 ZhLst 1.00[ 500 ~ 6.41 71.63] T4 | 500 ~ 6.41| 1.78 8.99
100kN/mM%EBZ % ~ ImEHBZRD ~ 100kN/ Mm% % % ~ IMEBZD ~
Fhst ~ ZFhst ~ ZzhLst ~ ZhLst ~
100kN/mM%BZ 5 ~ ImEHBZRD ~ 100kN/ Mm% % % ~ IMEBZD ~
zhs ~ zhst ~ Lot ~ ZhLst ~
100kN/MZ#8 2 % ~ 3mEHEAS ~ 100kN/ M%#BZ % ~ ImEEZD ~
zhs ~ zhst ~ Lot ~ ZhLst ~
100kN/MZ#8 2 % ~ 3mEHEAS ~ 100kN/ M%#BZ % ~ ImEEZD ~
zhs ~ zhs ~ Lot ~ ZhLst ~
100kN/MZ#8 2 % ~ 3mEHEAD ~ 100kN/ M%#BZ % ~ ImEEZD ~
zhs ~ zhst ~ Lot ~ ZhLst ~
100kN/MZ#8 2 % ~ 3mEHEAD ~ 100kN/ M%#BZ % ~ ImEEZD ~
zhs ~ zhst ~ ZhLst ~ st ~
100kN/mMZ#8 2 % ~ 3mEHEAD ~ 100kN/ M%#BZ % ~ ImEEZD ~
zhst ~ zhst ~ Lot ~ ZhLst ~
100kN/MZ#8 2 % ~ 3mEHEAD ~ 100kN/ M%#BZ % ~ ImEEZD ~
zhst ~ zhst ~ Lot ~ st ~
100kN/MZ#8Z % ~ 3mEHEAS ~ 100kN/ M%#BZ % ~ ImEEZD ~
zhst ~ zhst ~ ZhLst ~ ZhLst ~
100kN/mM%#8 2 % ~ 3mEHEAS ~ 100kN/ M%#BZ % ~ ImEEZD ~
zhst ~ zh st ~ ZhLst ~ ZhLst ~ |
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